Unit 1, Station 3, Round 1,

Task 3

ﬂh Dividing Whole Numbers Name: Answer Kev
Solve each problem. Answers
1) 90=2= 45 ) 42-2= 21 -

1 45

2 21

3 or4
3) 67-7= 0Ord ) 54=2= 27 4. 27

3. 113

5 48
i 7 Tr7
3 11-8= 113 6) 96=2= 48

g 49

g Tr3

10. 26

=9 = T+7 3 =7 =

T 63:8= 71 ) 98=2= 49 - 9 r3

12. §r2
9) 38+5= T3 10) 52+2= 26
) g6=7= 913 17) 66=8= 8§12




Unit 1, Station 3, Round 1,

Task 3
ﬂh Dividing Whole Numbers Name: Answer Key
Solve each problem, Answers
1) 1351 Iy 2320 3 10614

3[406 3[698 1746 1 _ 13511
: ’ ’ . _mn
10 09 04 —
9 9 0 1 106 r4
16 08 46
15 6 42 + 77l
1 2 4 s 8713
4 771l %) 8713 6) 21512 )
7540 gl699 4[s62 o HSrZ
0 0 g . 6517
54 69 06
49 64 4 5 721l
50 59 272
49 56 20 5. 3913
1 3 2 10. 9512
b 6517 8) 721l %) 5913
8[527 7[505 s[os n_ S08
0 0 0 . 322
52 50 29
48 49 25
47 15 48
40 14 45
10) 9512 11) 8613 12 3212
4382 7605 8258
0 0 0
38 60 25
36 5 24
22 45 18
20 42 16
2 3 2




